VIR TVRID/T VYR DR 0 nat noon WA AT TIHY Ty 0BT

|ntroduction to INVT 7179 — 1wy Y2IN 719

This final chapter completes the issue of pi1 *vnw —identifying the contexts of liability and exemption. The editors presented the entire chapter of
nvawp before any &, but, unlike other chapters of oW presented like this (e.g. X 113w & p77720), the nrawn are modular; as such, we will
assay each in order, studying the mwpand its attendant N2,

28.14.1

112a (8 mawn) > 113b (21727 IS 1K)
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I ’x mwn: exemption for burning nmTR 798 “nmin yin” or offering nynwnin VYW outside
a  Source:v.1 - neither of these is fit to come to 711 YR NN > exempt
i Analysis of language: nnn ymn
1 571 there was a place where they burned the nmr n1a that had been checked to ensure no mnn nrMY
2 Challenge (21717 #9): all of »R is “p1712”; rather nmn pin means if he slaughtered it inside the city walls
(a) Question: why doesn’t he just set it as having been slaughtered outside, but not facing 93>nn nna
(i) Per: R"ar" —juxtaposition of v. 2 (nv'nw) and v. 3 (7rrn) — must be nnan ™3 (v. 3)
(if) And: v "1 accepts this wp>n, per his ruling about n97w (juxtposition of vv. 3-4)
1. Contra: ®ywiR "1 who allows for burning anywhere (outside), per nwa (v. 4) — wherever it dies...
(b) Answer: he is teaching a less obvious 7108 — we would think that since inside the city is closer, he might
agree that it is valid therefore he teaches that even inside the city walls is considered nmn ymn
ii ~ Tangent - analysis of dispute 571/7"7about status of >’ whether it is all py72 (>"7) or needs to be checked (™)
1 Dispute: whether the 51an affected »”X; based on reading v. 5 — is the 1¢t part nn>nn (1) or declarative (5"7)
2 Challenge (»"15 59): description of painstaking details of keeping area 7710 for nrvn 'n
(a) Answer: that was a supererogatory step taken for n19
3 Challenge (515 »73): story of w1 "1's refusal to declare Xnv D9w1? — “where are %1an 'nn, %1712 'NN”
(a) Answer: just as 98172121 'nn were real — but were moved; same with %1an 'nn
(i) Question: if they were reinterred, why the nkmv?
(if) Answer: they were removed from 05w, not from all of »"R
(b) Version: 9”1 challenged "1 — doesn’t Y»1i’ "1's statement prove that 91an 'nn were real?
(i) Defense: each is interpreted independently; these were moved, the others were never there
4 Challenge (»"15 57): v. 6 — everyone died (even in »X) — must be from 2an
(a) Defense: they died from the excessive heat per X7on "1’s homily (vv. 7-8)
(b) Version: »"1 challenged>™ with v. 6 — why na7n if it was flooded?
(i) Answer: it was originally nan, called that to teach, per n™, that the fish weren't killed
5  Aggadic tangent: survival of huge antelope (oryx) and the nan
6  Note: according to 9™, there should still be no remains in "X, per n%1¥n (or WIv) —
(a) Answer: some remains were nonetheless stuck there and stayed in Land
7 Aggadic tangent: about the land of 13, filled with remains of ancestors
(a) Alternative 7v77. 9910 — upturns its wealthy — no more than 3 generations of wealth there
b Analysis of 2" clause: nonwNN VYV
i Challenge (to mywn, excluding per #’& nno 5x): Rn1a excluding n7an 73, in spite of common use of 129p (vv.1, 9)
1 But: nbnwnn yw is not excluded due to n”® nna (as it does come there), but from 'n% — not offered to 'n
2 Resolution: before n1n — excluded due to 'n%; afterwards — due to a lack of n”& nna
(a) Challenge: even after N9, it remains inside until »
(b) Rather: until 2y, excluded due to 'n%; after »v, it is no longer fit for n”® nna
(i) (note: before n%n, should be 27n, as it is potentially fit for 'n — mavin)
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